TORY—-I>RBESAIISVE
EARIEE(CI DlavaT WV /\—DEIR & T4l

Bk —IE, 85K AN, R Tt S R
ZIRAS AT 1T SR BRI EIK
BRI AT BHMRIFE BRRFR (S

1. Introduction @ —mm 2. Network Traversal with Mobility (NTMobile)

ORw DO —20DH#Y ORwv N —2ODOHl#Y7& BRI DIzl
O NATEL X ]2 — T —2 g (3MREIP RLURICEDVWCRERZITD
®|Pv4/veiElDIEF 4 —{RAEIPT7 RL RICEDLZ/\Uw ~ME,
o ZENEIE EIP) RLXICKD ‘ijjﬁ)l/ﬂ:én%
bile(d = LS % #ESRETAS —NTMobile L —AT—DZ{ERIT B ET,
H [ NTMobilel3 SIS & AFR IR ] NTMobile’e 1—H ZEE (CCRIZAIAHE

AS(Account Server)

DC(Direction Coordinator)
Dual Stack Network
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3. Structure of Java Wrapper
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4. Evaluation —— —— 5. Future Work
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